BIC

log[ Relative Probability ]

—400

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

0

—200

10*

1000

100

rm473 2/(410465 5303) 0.938
T T i T T i T T T T
I : : BIC 44864556 ABIC 0.000 AlogP 0.0000 ]
. : : X% 380104.06 Ax?> 0.000 AlogP 0.0000 -
S : .
— = — —_- — — — — — —
P- - - - - - - - - k- - - - - - R .
I ' ABIC —39864 ' 1156 <( 1217 «( |
Ax? —39864 ° -7.3 -902.8
5049 5049 5139 5303
A Ac5I ; ACSF | ACSBF
50 100 150
189 iterations
rm473 2/(410465 5303) 0.938
- T T T T I T T T T I =
, B 44864556 ABIC 0.000 AlogP 0.0000
\ 2 2
""""""" v-"‘"__"l"""""""""X'g
T |
:|
I, i . ________________________
| - =
L |r | ]
5049 5049 5139 i 5303
I A AC5I ACF | R 495355 ]
50 100 150
189 iterations
Fe2 11% 5184253 km/s
rm473 BLR 9900 NLR 900 Mﬂ/s

e — e

BIC

BLR

NLR
Fell

5139

ACSF

5303 — — — —

ACSBF

100

189 iterations

150

kdh1 13-0ct-2021 22:14



